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In Pre-Algebra, we will use a hand-held scientific calculator as well as the on-line calculator DESMOS.
You can access the DESMOS calculator at this link: https://www.desmos.com/scientific.

Section 1- Integer Operations

Directions: In this section try to answer without using the calculator, then check your answers on the
calculator.
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Section 2- Fraction Computation

Directions: Simplify each expression. Reduce all answers to their simplest form.
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Section 3- Compare and Order Rational Numbers

1. Plot each of the following values on the number line provided.
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2. Order the rational numbers from least to greatest. (Convert to decimals first!)

Numbers: \/ﬁ 250% —1

;
2.5 4 3.5

Least to Greatest: “ﬁ 2'5& 5 \,‘2—%
138 2.5 >,

Least Greodest.

Section 4 — Order of Operations v Grouping

R "b hat th Id " v’ Exponents
emember that the order of operations is |
P v/ Multiply or Divide (whichever comes first

as you read left to right)

v Add or Subtract (whichever comes first as

Directions: Simplify each expression Ykl TR lefin gt

In this section, try to answer without using a calculator, then check your answer on the calculator.
4+10e (—2 - ws
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G+~ -2 = B

Tr-q- 10
18 -\ =24

3. Ifa=4,b=—2,c=9 4, If x = —2 and y=3, what is the value
what is the value of bc + v4a ? of 10y + 2|3x+2|?

(-2)Q) + W(4) -~ 0(3) +’2.\?><"Z) +2]
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Section 5— Peﬁrcent Computatlo.n ? .....6- o + 8= 38

What is 5% of 907 2. What is 20% of 8007
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3. 6 is what percent of 607 wY. = { = \QL 4. 20 is 15% of what- number’-’
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Section 6— Equations

Directions: Solve each equation for the variable given. Check your answer through substitution.

1 —-12=x+9 2 7~x=18
-9 -9 -] o
_2\:X J —X"\\
A ==-2\ % ==\\
-\"L= -2.\'\"(:\ 7_(_\\3:\%
R VRS T+\ =\D
8 =\8V
4. Y. -x=9, 5.  x+5=14
O -
=% L
739 =1 X =27
A =
q:Cl/ 3(2.7)'\"5"‘\4
A +6 =4
0 =1y

Directions: Write the verbal sentence as an algebraic equation.

m N 4+ 5 =-20

Q
1. Ma three and a number plus five is 20.
3N +5 =20

2. Nine Ies;?han a number s four.
n-9 =y

Section 7- Inequalities

3. 2x —4 = =20
L0 + Y
2x = -\

2-8)-4 = -20

Directions: Solve each inequality for the variable given. Check your answer through substitution.

Graph your answer on a number line.

1. 2x—11 <13
+ W\ 40




Section 8- Graphing on the coordinate plane

A. (4, 7)

B. (-2, 6)

C. (-5, -3)

D. (1, —8)

E. (O, 0)

F. (0,7)
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Section 9- Functions

1. Complete the function table based on the rule and then graph the resulting ordered pairs.

Connect the ordered pairs to form a line.

Function Rule:y = 3x — 1
X |y
-1 | =Y 3N -\
0 | =\ 3(0)--\
1| 2. | 3(Y)-)
2 | & | 3(2)-\

2. The table of values represents a relationship between x and y.

a. Determine the y-intercept of the line that passes through

the points represented by the values in this table. 0
y*- \ﬂ\'e\(‘CQ@\' s Va\lwe of Yﬂé

e = 2
WD X =0 -ilg

b. Write an equation of the line that contains each
point represented by this table of values.

segl: find sige: 2 o) step2 Y= R~
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m:-z% y=Ix+3



(0,5)

3. Graph the line that passes through (-2, 3) and has a y-intercept of 5. Graph at least two
additional points that lie on this line. y
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4. Write the equation of the line representing

the relationship shown in the graph.

Section10— Probability

1. The sides of a fair number cube are labeled 1, 2, 3, 4, 5, and 6. What is the theoretlcal
probability that the number cube will land with the number 5 facing up?

P(5)= R VR [ ¥

2. Find the theoretical probability that the spinner below lands on the letter B. Write your answer
as a fraction in simplest form.

L T
(o) < 2.3




Section 11- Geometry

Use the VDOE SOL formulas below to answer the following questions.

n -—i ; -
/ ik ] I“,
x ; E j

‘A o— lhh L l) e 45 !_? === 2[ v = 2“" ul (_: = 2';'}
- A =42 A=Iw C = =d
A=
,
O
XNl
V = Iwh V = #rth T~ 3.14
S.A. = 2Iw + 2Ih +2wh S.A. =272 + 271h 2
' T~ 7

Directions: For figures 1 - 3, calculate the area and the perimeter/circumference.

- 25 1L,
st A= bl
" a0 A= .\i@,q)(ﬂ




4. Find the surface area of the cylinder below. Round your answer to the nearest whole number.
SACg\- = 72 e* . 21\
SA + ZTQI"+ 2 w(120) >
SA = 242 + 44O *
SA = e8Lm o eh
- 5 . 5
\SA - 2/\"'“-"‘8 | ) ﬁ*zzin —t
Oh = 2,\41"q 2 E"M
=1\
5. Find the volume of the rectangular prism below. Round your answer to the nearest whole
number.

\/o\ome, = Rwh
Y = 12896
V | > 40 8cm”

bcm

/

12 ¢cm

3.9 cm




